Lateral Support Assembly
Tarsys
Basic Recline (4XP) or Tilt/Recline and Recline Only

L v

N —
NN N — \
Y ‘],Jh\\/“ SN

@) N\

Swingaway Laterals with Cane Clamps

Swingaway Laterals with Multi-Bar (Curved Backs)




Lateral Support Assembly

Tarsys

Basic Recline (4XP) or Tilt/Recline and Recline Only

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1072661 Swingaway Lateral Support Assembly (Tarsys) 1 1
(Pair) Cane Clamp Hardware with Medium Pads
1 1072662 Swingaway Lateral Support Assembly (Tarsys) 1 1
(Pair) Cane Clamp Hardware with Large Pads
1 1072585-NLA | NLA - Swingaway Lateral Support Assembly 1 1
(Tarsys) (Pair) Multi Bar Hardware with Medium
Pads
1 1072586-NLA | NLA - Swingaway Lateral Support Assembly 1 1
(Tarsys) (Pair) Multi Bar Hardware with Large Pads
2 A 1072660-NLA | NLA - Clamp, Cane - Right 1 1
2 A 1077191-NLA | NLA - Clamp, Cane - Left 1 1
2 A 1072588-NLA | NLA - Multi-Bar - Right 1 1
2 A 1072587-NLA | NLA - Multi-Bar - Left 1 1
3 1072592 Bracket, Extension Offset, Black (2") 1 1
4 C See Note See Footnote 1 1
5 1077186-NLA | NLA - Bracket, Extension Offset, Black (1/2") 1 1
6 1077185 Bracket, Flush Mount, Black 1 1
7 B 1077192 Clamp, Cane - Right 1 1
7 B 1077193 Clamp, Cane - Left 1 1
7 B 1077194-NLA | NLA - Multi-Bar - Right 1 1
7 B 1077195-NLA | NLA - Multi-Bar - Left 1 1
8 0051206-NLA | NLA - Screw, Machine, Hex Socket, Button Head 1 4
(1/4-20 x 1-1/4)
9 1084411-NLA | NLA - Screw, Socket Flat Head (#10-32 x 1/2") 1 2
10 1102887 Screw, Socket Flat Head (1/4-20 x 1/2") 1 2
11 1072593-NLA | NLA - Screw, Allen Button Head (#10-32 x 5/8") 1 2
12 1077190-NLA | NLA - Bracket, Mounting, Black 1 1
13 1084411-NLA | NLA - Screw, Socket Flat Head (#10-32 x 1/2") 1 4
14 0063522-NLA | NLA - Bar, Multi-Attachment, A.B.S. Curved Back, 1 1
3/4" Spacing
15 0052906-NLA | NLA - Screw, Socket Button Head (1/4-20 x 3/4") 1 2
16 1096489-NLA | NLA - Bracket, Swingaway, Cane Clamp, Black - 1 1
Right
16 1096490-NLA | NLA - Bracket, Swingaway, Cane Clamp, Black - 1 1
Left
16 1077188 Bracket, Swingaway - Right 1 1
16 1077189-NLA | NLA - Bracket, Swingaway - Left 1 1
17 1072589 Pad, Lateral Support - Medium (6" W x 4" H) 1 1
18 1072590 Pad, Lateral Support - Large (6" W x 5" H) 1 1
NOTE: A - Swingaway Bracket Assembly with Offset Brackets

B - Swingaway Bracket Assembly LESS Offset Brackets
C - No longer offered as an individual service part.




